Lior Silberman’s Math 100 39
18. THE SHAPE OF THE GRAPH (16/11/2021)

Goals.

(1) Midterm review

(2) Implications of MVT for the shape of the graph:
(a) Increasing and decreasing functions
(b) Concave and convex functions
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3. Differentiate
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5. A population of algae decays exponentially.

(a) If the population falls by a factor of 3 every 30 days, find the time needed for the population to be divided by 2.
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(2) For each of the following functions determine its do-
main, and where it is increasing or decreasing. Fx-
cept in part (b) also determine where the function is
concave up/down.
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(¢) f(z) =xlogx — 2z

(d) %- You may use that f/(x) = ; 343;)2 and that
T e+

f'(w) = 27
(: |5 S?OS)%W On (;90)‘3),0 (3, ‘6>) \/Lan'hw Ow (‘3,.3))
Vanishod G+,

1C’>Q On (o)oﬂ} Mgejﬂ\re On (’00) V) ,\/W&sl/\% ab .
5 M)=-22-3 05 aload miy

(Tw(x)w o («A)\)) Ma’]‘rbe O (/M)’7)0 (l)oo)
% ¥ ove 1nflochion points = ool whato ConCariby

C}\am)e,:
(10,3 31630 -1 [ EL=20 [N 1] (1,93 ] (3,)
X -F o\ - . B3 — 1= — (o 3
\ — \ O\ + +\ i e s

"‘;Y\'—‘
Ti= =1 = Jo] +{+ +]ol= o] »







